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connect them to form a polygon. F

Graph the points cid
the polygon-

20. A2.2), B(3, 6), C15, 6), D{4.2)
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96 square units 142.5 square units SSquare units % . Find the height an

T .‘~'_ engths of the hypotenuse and one leg of a right triangle are given.
d the perimeter and area of the triangle.
‘Hypotenuse: 26 em; leg: 24 cm 8. Hypotenusc: 50 mm; leg: 14 mm

60 cm; 120 em? | 112 mm;
nuse: 37 [ leg: 12 1 10. Hypotenuse: 85 n.; leg: 77 1. Jofi
1386 1n.°

e 84 ft; 210 ft* 195 1m:; R
lﬂdﬂnvﬂuofx. ":'_.;;;-*‘- A 4 g'- ‘_-..f Envelopes You have an envelope thz_n IS
M A=IS3R9 12. 4 =528cm’ 16 . 2 3 A e 9.5 inches by 4.2 inches and has a triangular
| | - , —_— 1 flap with a height of 2.4 inches. What is the
G | area of the envelope shown in the diagram?
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d area of the polygon.
23.

136 mm°

K 485 in.; 169.700 in.-
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Floor Tile You have a piece of floor tile n
the shape of a parallelogram that has a base
of 6 feet and a height of 2.5 feet. You cut a
triangular piece of tile with a base of 2 fgcl
10 fit next to the other piece, as shown. Find
the total area of the tile in square fecl and
square inches. 175 ft*; 2520 n.*
Painting A painter 1s pamnting the back of
your garage, which has the measurements
: : shown. The painter can paint 200 square feet
e | - per hour and charges $25 per hour. How much
will vou have to pay if the painter rounds the
’ lime spent painting to the nearest half hour?
437 mm* . . ' ine

24 ft 18 ft
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Find the area of the trapezoid. Find the area of the polygon.
2. . . 16. 9 ~ L

1 i

13.7

76 square units :
05 un L1978 squure units

90 square units
Find the area of the rhombus or kite. ' 00 square units ' 322.2143 square units:
= - ; y

416.0215 square units

Washing Windows You are going to wash a large

glass window in the shape of a trapezoi
pezoid. The len
E of the bases of the window are 10 feet and 14 feefms
>n to find the value of x. 3 1he height is 8 feet. You can wash 6 square feet of

, - | the window in 1 minute, Hov il i
> ™ / | — ' : B 2 ow lo“ .
11. Area = 196 f* i 4 to wash the entire window? 16 "g“\:lll g

B0 square units

Gompany Logo A company has a logo that is in
o e of a thombus. The company wants to
Putts logo on a sign outside the building, On the
36 inches oworas O the thombus willbe 72 and
o [ e o e Tilid he area of the logo. 1296 in 2
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~te the table of ratios for similar polygons. s
' 14, Regular ocugonucugmuwaside‘!wn‘h"wl,,m"opg B » poriaitor AR TS
| | 1 e p e L ) of parimetas e N 1 arca of 160 square millimeters. chul“ mmgou . LA W — - _'t" |
- | 5:8 g e 2 i D) t- B of 200 millimeters. Find its area. 1000 mim The - N - -
. v 2 . 1A : ¢l. 1he = 1
e 25 18. Kites RSTU and VWXY are similar. The area of RSTU is 162 SqUATe %ny " ’
. 4:7 4 : o .32 feet lon and 18 feet long. md_.themo 1 =
2. 7 1649 diaganals ot F AT @I e lengths of the diagonals of RSTU. ‘ |
S5 13:6 5% | Then use the ratio of the areas 10 find the leng = 288[\’;2&&&‘1’)‘413-5“' ‘.
1 66:18 =2 11.3 | O 16, A ABCand ADEF are similar. The height ofM”C!"zm?&em" oW
| 4 L : ' | 11:3 121:9 : ADEF is 7 inches and the arca is 42 square inches. Find the ratio of the arca : .:
= of AABC to the area of ADEF. 49 4 -l i
o responding lengths in similar figures are given. Find the | o The width of ABCD s 18 centimelers & i
b, ' ratios (shaded 17. Rectangles ABCD and EFGH are similar, 1he ot A .
10 unshaded) of the perimeters and areas. Find the unknown area. , the perimeter is 120 centimeters. The length of EFGH 15 91 ;{cntu:?t]e;‘s. Find the | n
| = 5. 2:5,4:25: 1252 1. ratio of the side lengths of ABCD to the side lengths of EFGH. 07 " :
A=2f¢ 18. Posters .Your school had a car wash 10 rmsc money. e
ﬂ : A poster that was used 10 attract cuslomers 15 sbown. : ‘.
2ft 5ft - You decide that you will have the car wash again :
" : next year. You will have a similar poster but you
6. 7:10;49:100; 196~ A = 400 in.2 : will increase the length to 6 feet (o try Lo attracl . = Nl
- ‘ more customers. Find the area of the new poster. 15 11 : - l
20‘\ / 19. Rug Costs You are companng the two rugs shown bclqw. You want 10 be ?\!ﬂr‘: that
8 the large rug is priced fairly. The price of the small rug is $84. The price of the large
- 8 ) rug 1s $210.
7. A =162 cm * A= 1024 mm? ‘ a. What are the areas of the two rugs'?\ What 1s thc ratio of the area of the small rug
2 X to the area of the large rug? 40 f* and 120 A% 1= 3 |
i e L b. Compare the rug costs. Do you think the large rug is a good buy? Explain.

1 - —— — Yes: the area of the larger
b & & rugis 3 ttmes the arca of

@

L1214 81: 242 em® S0 : e
11:9; 121 i 24 om 8 mm r the smaller rug, but itis
8$:3:64°9: 144 mm? f’ only 2.5 times the cost.
The ratio of the areas of two similar figures is given. Write the ratio of the X o
jengths of corresponding sides. " : [0 0o 608
9. Ratioofarcas = 16:81 10. Ratwoofareas = 25.196  11. Rauo of areas = 144 : 49 |
4:9 314 12:7 ?
Use the given area to find XY, 5
12. ABCD~ WXYZ S 13. EFGHJK ~ UVWXYZ 12 ¢em
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5 em

A 15 m.? K J > v

-

188 cm* A= 378 cm*
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Use the diagram to find the indicated measure. Find the parimeter of the region.

1. Find the circumference. 2. Find the circumference 3, Find the radius 20. ; \\ ‘371 mm - s ; S
D> ~ - : I8N 50N N\
5027 ft /‘\ 3084 n 1020 ¢ ? “T - /,
5 mm 5 22N
. 1 L)
13in. ] / 4
} 41 in, {
C~86598cm
I hllhl i | . 22. In the table below, AB refers to the arc of a circle. Complete the table. _1_[ |
- .‘.."."_ - = : " .
T ex et radinsa . = aire ., ters - in ‘
[ The exact radius of a circle with circumference 42 me = ‘ 11| 979 | 481 | 95 | 107 |
"demnetcr of a circle with circumference 39 centimeters ¢ : _ 43027 1050 | 75° |sg240 | 270°
.. N . . -z : 5 e, PR % A g 1] = === o
. The exact circumference of a circle with diameter 15 inches 137 m ; Lengt :i-:j \'1 826 | 1794 | 63 | 1463 | 5042 J “ ' 4| i
- | O -

The circumference of each sprocket is given,

K “mmﬂm&mfmcc of a circle with radius 27 feet 547 It
Fine hm,a AB. 23. Bicycles The chain of a bicycle travels along the front and rear prockets, as shown.
N :

® A 628cm 9. B8 47,12 in. :
\: F H' 1507,

o
rear sprocket
C=12in.

below, £ EDF = 2 FDG. Find the indicated measure.

. \ VW LY 3
..rn‘-y‘-._.(.:ﬁ l\““ il
-y [ENTT S e W gl
: ")[', tl'i! Q'
A lonts AN AN A AL b a e L@
- —
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ded region.

the area of the sha

- Find }
§6.08 cm” 21.

20.

l99llm. 22.

1927 28,

S o | 23.
- A 2 ft
36mn.’~ 113 10 in? 110257 fit; 346.36 1t 153.76ar cm”; 483.05 e’ i !
Fﬁd:lh. indicated measure. ¢

4. The area of a circle is 173 square inches. Find the radius. 742 m. \

kS

8. The area of a circle 15 290 square meters. Find the radius. 9.61 m
26. Fountain A circular walef fountain has a diameter of 42 feet. Find the area of

the fountain 13835 .44 11
ping The diagram at the right shows the area of a lawn covered by a.

8. The area of a circle is 654 square centimeters. Find the diameter. 28 86 ¢m

7. The area of a circle is 528 square feet. Find the diameter. 2593 1t
27. Landsca

— ""' ‘M'q.‘v.
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Find the areas of the sectors formed by ~ ACB. ! water sprinkler.
8. 9. 8 10. 209° j G
D - N
1307
A
8
BT 3 > A s
Q08 and 41.19 in~ 82702 cm* and 1463 20 ¢m® 12694 m- and S90.93 my’
Use the diagram to find the indicated measure. a. What is the arca of the lawn that is covered by the sprinkler? 301.59 fi?
11. Find the arca of ©H. 12. Find the radius of ©H 13. Find the diameter of CH b. The water pressure is weakened so that the radius i1s 10 feet. What 1s the area of
107.06 fi* Q7 lawn that will be covered? 117.8] ft-
: O I- H.asm
g 28. Window Design | he window shown 15 in the shape of a semicircle. Find the areaof
the glass 1n the shaded region.  10.60m°
E
G __45
- f P | ™ .
A=2378 A= 40.62in2” A= 3147 m? - NG I 5
The area of ©R is 295.52 square inches. The area of sector PRQ is - ““Amam
55 square inches. Find the indicated measure.
; : 14. Radiusof &R 970 15. Circumference of DR ol ¥4
o 16. mI”_Q\ 67 17. Length of PQ :
—t 48. Perimeter of shaded region 19, Perimeter of unshaded region !
5 j‘ 30.74 . SR
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21. What is the area of a regular 24-gon with a side length of 10 inches? Round your
answer to the nearest tenth, 1f necessary. 4360 m.?

Find the measure of a central angle of a regular polygon with the given
number of sides. Round answers to the nearest tenth of a degree,

if necessary. G L

| . ) 22. What s the arca of a regular 30-g ; i 2 i

1. 20sides 18° 2. 36sides 10 3. 120sides 3 4. 23sides 1S at is the area of a regular 30-gon with 2 radius of 20 feet? Round youranswer:
to the nearest tenth, if necessary. 12337 1t

23. Find the area of a regular pentagon inscribed in a circle whose equation is g1 iven by
-4) + (v —6)= 16, 384 square umits

Find the given angle measure for the regular dodecagon shown,
8. mZTWU 30U 8. msLIWX |5 v J
7. mZXUW 75 8. mZTWK 110

24. Find the area of a regular octagon inscribed in a circle whose equation 1s iven b
(x = 2) +(y+3)=25 699 square units

9. mZUWK 90 10. mZXWK 105
i - e
| Find the area of the shaded region. Round answers to the nearest enth,
: if necessary. | §1
:' 25. 139.1 square units AR . 1' ,?_'...'._i‘z‘.--
11. Multiple Choice Which expression gives the apothem for a regular nonagon with i l e /N0 183.7 squanc Uit
- side length 10.57 € :
_ 525 105 L
A 4= na0° B. 2= a0 :
- - 525 = o 27. 4
: k) : =525 square units
C. a= 2o D. «a S » tan 20 q
A regular hexagon has a diameter 22 inches. What is the length of its apothem?
| '-*yom’msmrwthemmttcmh 9.5 1, . :
13, _; la mggnlms a diameter 8.5 feet. What 1s the length of its apothem? . 40°
| i\umv mmto’theneawsttenth. 3.9 ft
| 1 ~ In Exercises 29 and 30, use the following ii

..’oftho regular polygon nd answers to the - Tiles Youareuhnglheﬂoorofahallwaywnhh!uﬁntm
e . | ~ regular hexagons as shown.

30.8 units: - is th | il '
o R N 29. What is the area of cach tile? 93.6 in°
30. The hallwaybas a Wtdth oY(s feet and ""W"
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